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F(K\ ! Linearized knot diagam

, ) 1 Solving Sequence

A knot diagranﬂ €3 € CGio G G5 Cr Cui1 G2
Ideals for irreducible component#ﬂ)f Xpar

I = (u* —u®® + .+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u**—u®®+...4+2u—1)

(i) Arc colorings

ub —3ut +2u%+1
—ub 4+ 2ut — 2

w? —4u” + 5ud — 3u

—u® +3u” —3u’ +u
wl? — 5010 + 948 — 448 — 6ut + 5u? + 1 >

ag =
ar = \ ¢y — 6u'? + 13u!% — 10u® — 4u’ + Su* — u?
—u?2 +9u? 4. 4207+ 1
—u?t +10u?? + - — dut + 202
ut? — 17wt + - — w2 1
—u*? +16u?0 + - - + 4ut + 3u?
( w2 =170+ — w2 41 )

ayp =

az = \ —u? +16u*" + - - + 4u* + 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*t — 6403 + -+ + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq e T R |
C2 utt £ 23uM 4+ 2u 1
€3, C9, C10 B4+ —2u—1
€4, C5, Cg utt —3ut . —10u+5
c7,C11 u =3B+ 4+ TO0u—7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C6 yt =23yt -2y 41
Co yM 3y 10y 1
€3, C9, C10 y* —35yM + . — 2y + 1
C4,C5, s y* +41y™ - — 270y + 25
cr,c11 y* + 299" + ... — 6454y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

U 1.136420 + 0.0708611 —1.83859 — 0.367321 —5.44983 + 0.093301
uw= 1.136420 — 0.0708611 —1.83859 + 0.367321 —5.44983 — 0.093301
uw= 0.011664 + 0.8577621 7.59511 — 2.366621 —0.82199 + 3.386451
u= 0.011664 — 0.8577621 7.59511 + 2.366621 —0.82199 — 3.386451
u = —0.072887 + 0.8527851 2.26398 4 8.633301 —5.49078 — 6.175441
u = —0.072887 — 0.852785] 2.26398 — 8.633301 —5.49078 4 6.175441
u= 0.058073 + 0.8452691 5.01784 — 3.758521 —2.18404 + 2.689351
u= 0.058073 — 0.8452691 5.01784 4 3.758521 —2.18404 — 2.689351
u = —0.066510 + 0.8143401 0.820194 + 0.3385771 —7.27786 — 0.026281
u = —0.066510 — 0.8143401 0.820194 — 0.3385771 —7.27786 + 0.026281
u = —1.209090 + 0.1765461 —3.07255 + 4.101651 —9.63918 — 6.972521
u = —1.209090 — 0.1765461 —3.07255 — 4.101651 —9.63918 + 6.972521
u = —1.207320 + 0.3444881 —2.67222 + 3.852311 —10.89580 — 3.962431
u = —1.207320 — 0.3444881 —2.67222 — 3.852311 —10.89580 + 3.962431
u = —1.199240 + 0.4007571 —1.19898 — 4.132381 —8.61614 + 2.756561
u = —1.199240 — 0.4007571 —1.19898 + 4.132381 —8.61614 — 2.756561
u= 1.216460 + 0.3899041 1.45135 — 0.679161 —5.37325 + 0.1

uw=1.216460 — 0.3899041 1.45135 + 0.679161 —5.37325 + 0.1

u = —1.28385 —5.57163 —16.6130

uw= 1.261750 4+ 0.3978711 3.71994 — 2.135411 0
uw= 1261750 — 0.3978711 3.71994 + 2.135411 0
u = —1.280990 + 0.3957461 3.57613 + 6.862181 0
u = —1.280990 — 0.3957461 3.57613 — 6.862181 0
u = —1.336030 + 0.1284021 —5.89939 + 3.183001 | —11.60255 + 0.1
u = —1.336030 — 0.1284021 —5.89939 — 3.18300/ | —11.60255 + 0.1
uw= 1.353960 + 0.1069741 —9.55253 + 0.875571 —15.7624 4+ 0.1
uw=1.353960 — 0.1069741 —9.55253 — 0.875571 —15.7624 + 0.1
u=1.354080 + 0.1428891 —9.09797 — 7.703131 —14.6073 + 0.1
uw= 1.354080 — 0.1428891 —9.09797 + 7.703131 —14.6073 + 0.1
uw= 1314770 + 0.3634431 —3.50174 — 4.583871 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = 1.314770 — 0.3634431 —3.50174 4 4.583871 0
u = —1.312960 + 0.3812101 0.73171 4 8.165531 0
u = —1.312960 — 0.3812107 0.73171 — 8.165531 0
u = 1.322850 4 0.38394471 —2.10496 — 13.075901 0
u=1.322850 — 0.38394471 —2.10496 + 13.075901 0

u = —0.371942 4 0.4768181

—3.72132 4 5.608911

—9.34455 — 7.777461

u = —0.371942 — 0.4768181

—3.72132 — 5.608911

—9.34455 + 7.777461

u = —0.442174 4 0.3857901

—4.03922 — 2.474261

—10.82917 — 0.273231

u = —0.442174 — 0.3857901

—4.03922 + 2.474261

—10.82917 4 0.273231

u = 0.334945 4 0.4054181

—0.74838 — 1.343311

—6.21576 + 4.980121

u = 0.334945 — 0.4054181

—0.74838 4 1.343311

—6.21576 — 4.980121

u = 0.101961 + 0.4834601

0.81833 — 1.696161

—1.98579 + 6.040801

= 0.101961 — 0.4834601

0.81833 + 1.696161

—1.98579 — 6.040801

u= 0.348278

—0.869874

—12.9060




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cg utt B 21
c2 utt +23u 4 2u+ 1
c3,Cg, C10 WM u®P o —2u—1
Cy4, C5, C8 u —3ut - —10u+5
c7,C11 ut —3ut o TOu—T




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Cé y* =23y . 2y +1
o Y 3B 10y 1
€3, C9, C10 yM =35y . — 2y 41
C4,Cs5,C8 y* 41y o - 270y + 25
c7,c11 y* 4 299" + - — 6454y 4 49




